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Dox :
L. This question booklet is issued to you by the invigilator after the 2* bell Le., after 10.25 am.
2. Confirm whether the OMR Answer Sheet and the Question Paper issued to you are with same version code.
3. Also confirm whether the OMR Answer Sheet and the Question Paper issued 10 you are with the same serial number.
4. The Version Code and Senal Number of this question booklet should be entered on the Nominal Roll without any mistakes.
-;)-O\C_'_rompulsodly affix the complete signature at the bottom portion of the OMR answer sheet in the space provided.

NTs:
1. The timing and marks printed on the OMR answer sheet should not be damaged / mutilated / spoiled.
2. The 3™ Bell rings at 10.30 am, till then;

= Do not remove the seal present on the right hand side of this question booklet.

* Do not look inside this question booklet.
* Do not start answering on the OMR answer sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 100 questions and each question will have one statement and four distracters. (Four different
options / choices.)
After the 3™ Bell is rung at 10.30 am, remove the seal on the right hand side of this question booklet and check that this
booklet does not have any unprinted or tom or missing pages or items etc,, if so, get it replaced immediately by complete test
booklet by showing it to Room Invigilator. Read each item and start answering on the OMR answer sheet.
3. Dunng the subsequent 120 minutes:

¢  Read each question carefully.
e  Choose the comrect answer from out of the four available distracters (options / choices) given under each question / statement.
Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on the OMR

14

answer sheet.
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4. Please pote that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the scanner. Therefore,
avoid multiple markings of any kind on the OMR answer sheel.

S. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the same.

6. After the last bell is rung at 12.30 pm, stop writing on the OMR answer sheet and affix your left hand thumb impression on the OMR  ©
enswer sheet as per the instructions.

7. Hand over the OMR answer sheet to the room invigilator as it is.

8. After separating the top sheet (KEA copy). the invigilator will return the bottom sheet replica (Candidate’s copy) 1o you to carry home for -.'
self evaluation. ¢

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year,

10. In case of any discrepancy io the English and Kannada Versions, the English version will be taken as final.

11. For every wrong answer, 0.25 marks will be deducted.
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R
ecently CCMB, Hyderabad released a

n . .
L:W n‘ce Variety called Improveq Samba
asuri. What gpe all the

characters of this variety ?

1.

unique

1. Low Glycemic Index
2. Drought resistance
3.

Resistance to Bacterial Blight

It‘ientify the correct answer using the code
given below :

| agedt COMB, FHEOWRD

ﬁo%oj:o

‘Borods Toww HRRT D0 BRR Zdéf

Foodoms> wRIAE REVAD. Bt BFOD faloncy
ol

OeorieR)) ?
1 3e i Zaoe ReuRes

2. w0 R8RS

3. wRBeo0dn GRENROE DAREES
8980m Rogedrivly won ROOIVYIBIY

(A)  1and2only nodFy :
(B) 2 and 3 only B 1332303
Bg) 1and 3 onlﬂ (B) 2 d}@‘g 3 3n3,
D) 1,2and3 (C) 1333 mg
D) 1,233
2. Consider the following statements : _ '
1. No money out of the Contingency 2. 555053 é@éﬁ#d&ﬁ&@k >
- Fund of India shall be appropriated 1. DIVIRE R0TF o
except m accordance with the law of u#imm@d@t 20D BRT03,.
Appropristion, PRUSE THD> QD BEITO, WYE
2.  Contingency Fund of India is at the mmdog%
d:'lsposal o:' tll-;e exe;uti;e tot?nabil;e 2. I RQU%&? 3@063@35 a’saaﬁaigt
advances to be made, from time to S
time, for the purpose of meeting TO00T O, udhuf:ﬁ a”’aﬁm’b‘
unforeseen expenditure, pending ©R0eEE DFTeh, oI RPODHS
authorization of such expenditure escpa'aduc;p Drng WRINON
by the Legislature. FODFTO RSO - BHROTS3R0DR
Which of the statements given above BOONBETON DF INBWRIZ).
is/are correct ? e DeBDI  Bende) - IRy
(A) 1only ROOIRNT :
A) 1303
B) 2onl
( .) ); 42 (B) 223
SN T © 130332 a8c@s
(D) Neither 1 nor 2 D 168m2 o0 ,
Space for Rough Work / 2,08 3038 39
2-39)
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Consider the following statements about NS=Ren @cm,.-gmg RowodZod
the Sagarmala programme : 850 FBewsnuy ReboRn ©
) (8 It deals with port modernisation, b B0 uodd: SEhResTrR00N
' BTBORI3.
2. It 1 deals ith
wo TEY T el Cg el e Mo Savosss
co it 1 t.
mmunity developmen | o d& X Bor0088.
3. Port linked industrialisation js one 3. WoBd RoTFE gmoosestony) /8T
of its objectives. emcieaim*@ WOTNG.
Which of the statements given above are mEE R ée@éﬁd@ oci:ad)cb
correct ? ROIRNGS
a4 1 d:ag 2 T3,
(A) 1 2
and 2 only B 133203,
(B) 1and 3only ©€) 2323 3%,
(C) 2 and 3 only o o
_-_—_______§=q'
1M 1,2and3 |
2016 - 17 Je WIT BeowoRd JTFBE,
4. In the financial year 2016 — 17, India
_— P FADlorcL. ﬁa% TRRET D3ed FeB woR Y
ived imum inflows from
B BOT L2086 203,
~(A) Singapore (A xonzys
(B) .USA (B) 030.Q%¢..
(C) Russia (©) oy
; AP) Mauritius (D) =WndTTE
~ Space for Rough Work / 2,883 Soﬁiﬁ X
GS (3-9)
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Consider the following statements about
Hornbills in India :

1. The Great Hornbills are found
confined to Western Himalayas.

2. Narcondam Hornbills are found
only in the Andaman Islands.

3.

Wreathed Hornbills are found in the
Western Ghats.

Identify the correct statement(s) using
the code given below :

@ 1 and 2 only _i

_AB) 2 only

(C) 3only
(D) 1only

6. Kirti Stambha, the vmtory tower, is a

popular attraction in which of the
following forts ?

(Splercialu)s] T FO T H02I0DRTIOB
3980 BevBRVS, eSO aﬂalg-.b
L etz ma‘rwo‘ﬁ%

&omomﬁ o 00BN FEIWBIT- "
2. mﬁmeromo To® Ffe;‘ﬁ
30BN’ Qjeaﬁﬁ#@ =BR3, aaeénoi .
3. W3 ma‘rwv‘ﬁ#sb TR
uﬂd@ FEALIBIT.
Wﬁ%yimasdoﬁ Noéeéﬁ#m o308 300330
@e@ﬁr{eéab T3=B
A) 1 doa’; 2 SR3,
® 2373
(C) 33w
D) 13%3,

3e3r JoyiR) DHOPW ReePTTONEY, B3
30308 I  BRNTE  mSR0R
SERFEBOSRNS ?

i
ey |

(A) Red Fort

(A)
(B)
(®)

o) Brets
oo
203

(B) Mandu§ _

(©
£

7. Consider the following statements about
an Islamic reform movement in India :

1. This movement declared India as
Dar-ul Harb and needed to make it
Dar-ul Islam.

2.  Shah Walliullah’s teachings fuelled
this movement in India.

The above mentioned statements mention
(A) The Aligarh Movement
r—B) The Wahabi Movemeﬁt)
_4€7 The Deoband School
(D) Rahnumai Mazdayasnan Sabha

Gingee

-Chittorgarh |

(D) 32Reo 3@

POBTY. FTAT ROGO0Hm  W@RTONR

TowoRATo3B B0 £e@8ﬁ°‘da’o Joneda :

1. TEEE 8 WISV mc‘ piog
ToW'E oW U ever AR

INBUeTT RO aowdm
PREARD. i
2. »YwoDsa Be3InGy

1POBEOR & BIBOR 1862 Deagy: |

RS SORTOT Bewdnedy B omotpx;c&:)
(A) ©Oepot Wz
B) [TV BYITP

©) & Qoldrewors (dedwod) o3 -
(D)  ComEdy a:bzaao:ba"'a&‘ B!

Space for Rough Work / .0t 30X < 5, 3
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8. Identify the correct statements about

Amir Khusrow :

1. He was a spiritual disciple of:

Nizamuddin Auliya.

He is referred to as the Voice of
India. ' |

He was killed by Ghiyasuddin
Tughlagq.

Select the correct answer using the code

given below :

) 1and?2 on13;ﬂ

(B) 1and 3 only

~(C) _2only

(D) 3only

9. . Suresh has some goats and some hens. If

ip——

the total number of animal heads are81

e

and the total number of animal Iegs\a-re

234) how many goats does Suresh have ?

- (A) 42-: a\ Y/ /t{ <
B) 27 _j,}_:/ e
= 3L 4
S
(D) 22

8. ©eo At Rowodrmod Fedon
mgddﬁa{i AL T oTovi Dien DEFINIY
SFR

OB WPJIQET  BONR IRY
o083 5, ToNTI.

&1

[ eddsy  wods @ o
eVeIeDTERAT. '

O[D  PORDYD  DPLFTOT
Srepic.

§9NS Roseand Amacboor A0 evgday

UO&%&D@:

@) 1332 30,

(B) 13RS
- (C) 2353
(D)" 3 &S,

9. RTeBD fom) Dednvd DR foR)
BREINYRY BROOT. TR 283),
Rododn 81 &NEY =) TRENY 2.8
meoNe Josdodo 234 8NgY, RBedD>
D), REFNYS) RreoDTITYS ?

@ |
(B)
' (C)
(D)

42
27
36
22 .
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‘\§ | b
e QYL = 3

The difference between a two digit | 10. oTB> 080D No:ﬁo:b BN IR |
number and the number obtained by =03y 0330& @ddo eoér{gﬁab é);)&‘bodo.-_

interchanging - the two digits of the aﬂ 3
Road,030 36 Qﬁﬁt‘bSCg Roas, -
number is 36. What is the difference m@é’womr{ R

10.

= ?
between the two digits of the number ? VR 208N ddoé)ﬁ ﬁ@zgruﬁt’i&) _
- (A) 5
‘(;AB? — (B) 4
[zl - (©) -2
(©C) 2 ' _ me ' D) 7 | ]
sl | |11, 583RE), RRRed RIVTO’, B AT,

. | BowBoZRN
11. In India, - plants like Juniper, d@&d@féomﬁ‘ﬁ’# ‘Q@ " §

Honeysuckle, Rhododendron are found in (A) Roowd Wi

(&) Sunderban | (B) RewNOOHOF Brewd BEN®
' G Pleveln) 308

(B) Shola forest in Nilgiri - © iﬁ;ﬁﬁ;&;ﬁ i =

(C) Tropical dry deciduous forest in -

Kavtiataka D) &BPROCHBYS 88,7 STRND
gD) Alpine forest in Himalayas | 12. RReERYR o20DAT0S BYF0R ﬁ@@éﬂ#a’%
iy : - TONEIR : :

12. Clon?:er the follow;ng statements about P od AN & "w’i%)édiw' i E‘fs;l.
clouds :
. THTHBWOEDI, RARSROZT.
. L z:}ertzgtzhgf Ithese clouds indicates 5 g o @* e rinds” _,.

ApciRFIm RSB, SEoeit
RooTTTT PRI VRT3, _
3. These clouds are .fibrous clouds 3." B SReRMEh e.mdé QYT BT
" found in higher altitudes. T0R03D dmedn’mhzﬁ
0003 Beedrivid), wek I0NT BeeEd
DFBR, MO :
(A BBOORT Beednd
(B) A Jnednd
0 ©8Rs-8R0UT HeedRw
- (D) a8% SneREn

2.  These clouds give beautiful colour to
the sky during sunrise and sunset.

Identify the type of cloud using the above
statements.

_(A) Cumulus clouds
(B) Stratus clouds .
(C) Alto-cumulus clouds.

| _ Space for Rough Work / mm i?'om‘é; Ry

(6-9)
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13.

14,

~(A)

o

(B)

Recently the Heli-Taxi
launched in whijch city ?

New Delhj
Mumbai
Hyderabad.

service wag

(B)
(C)

@/Bangalore

Which among the following are included
in the Original Jurisdiction of the
Supreme Court ?

1. Disputes between the
of India and States, ]

Government

2. Disputes between two or more
~ States. '

3. Disputes between States and PSUs.

Select the correct answer using the code
given below :

(&) 1and 2 only

2 and 3 only
(C) 1,2and3
(D) 1 and 3 only

15. The area of a rectangular field is

[(A)

400 sq.m. If its breadth is 16 m, find the
length of the field.

50m
(B) 40 m

I‘G;d'(/25m| A\

(D) 45m

1 230 @0-imy Aestonsy atnd dridae

14,

15.

ToRR o) ?
A) IIBBE

(B) &0z

(C) %dcama*‘ .
(D) Worngndd

NS YD :d«iraerzgd pYevipldleviiaf

BO T cdndn Feodnoads ;

1. 03 3srd I NG IR
TN, |

2: 0D 4@ SUS oownd I@as
QDTTNLD.

3. oagrie =3y e 43 wong
RoFnY SRV DoTnh.

BINT Ro8e3ny Fmo0bdod To PZTBR)

E:SCGOF\D& :

(4) 1302233

B) 2333 3R

© 1,233

D) 13033 Ing

BT g3 &,&ow DYCEIFTY
400 B.0e. &I T GvRoP 16 Qe
RONGS, & 333 v Ddsna.

(A) 50 Qoe.

(B) 40 oe.

(C) 25 Qve.

(D) 45 Qoe.

f..a il

ue € Space for Rough Work / WO svﬁg L
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16.  Karnataka Government hag recently

16. 3 S>3 28e2drt DIGI 7 0t0TRY
launched DIGI 7. What is DIGI 7? T t38 A O A%

003, DIGI 7 0TBERD ?

(A) Digital platform to g
= : *market ; _
agriculture produce ' (&) mc‘bs%w %&1 wéﬁri@nah R
w ' ; ReDs '
(B) Digital identification . number for |
app based taxis | (B) & ©podd mInereh BRLe
T— o

(C) Digital address for perertm pelevtr! NO&%
Bangalore | (0 tondedsd eyob BRueT WR
(D) Digital platform for reservation in (D) 3Joress T d§ méﬁ 50%013*

KSRTC

Q0CTOMON BRES FeOF

.! - 17. The 84" Akhila Bharata Kannada |17 2018 S¢ SRF3E IBc0OTHT 84 e DY

Sahitya Sammelana will be held in the | $o03 833 mokd, Adyevamy S
‘year 2018 in | 39, :
m @) oomR

~(B) Mysore B @Redd

(C) Belagavi (O WD

(D) Davanagere : (D) Teord

18. Mrinalini Sarabhai is associated with 18. -d%m@g WONPTF  IRR DT Ral
which form of dance ?

BFoTE, ﬁowo%m@d ?
(A) Kathak (A) 3IFT*
(B) Kathakali - ®) g
W Bhara_tanatY@ _ (C)  wosmeo
(D) Kuchipudi - | © sema
Space for Rough Work / 2.0t 30330 :.?;#
GsS 8-9)
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19. Raja Ramanna Centre for Advanced

Technology.(RRCAT) is located in which
city ?

(A) Bangalore
(C) Kolkata
(D) Pune

The International Union for Conservation
of Nature (IUCN), the global standard for
recently

20.

assessing  extinction risk,
declared the conservation status of one of
the following species as ‘has been
improved from en'démgered to vulnerable’.

Which one is that ?
(A) Vaulture
\\"\;_st/ Snow Leoﬂ)
©
(D) Indian Bustard

‘Rhinoceros

‘e-Shakti’ is a project unveiled by

NABARD

(B) RRB

21.

. (C) SIDBI

-(D) Ministry of Non-Conventional

Energy Sources

19, D20EHe, BOWTIT FoodFee Feon D)
(RRCAT) 0333 In05Q. Sennoads ?
(A)  2Borighnd
(B) qomRT*
(©) 3BrYz
D) D=
TFS RoTgme  0B0THREOD LAWY
(IUCN) oS30 ©oussgths B
Rogoony  Rodgme RGO, NS
RORH, BERET W@V BYesrt
HeRD Ina. S Weord oInd 363
ROBOVB), TTIEORVOT oo BN
odeeedis ? '
(A) Teomd,
(B) &0 2302
(©) Feowos)n
(D) QoRODT* RO

20.

21. ‘“3-3% Q02 cdraezrlﬁodaa’g{ SODNs2
RRYATOFD |

(A SmEE

(B) ©0°.&0°.0. .

(C) X°.0.8.0.%2.

(D) ©RROTERONT  [WHI  Bweons

28O0

Space for Rough Work / Mot XS] 3@:’&'3* 3
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22.

Consider the following statements about
Insolvency and Bankruptey Code, 2016 :

1. It introduced the mechanism of

corporate insolvency resolution
process,

2. BIFR will be the nodal agency for
regulating the resolution process.

3.  Reporting to NCLT is mandatory for
initiating the resolution process.

Identify the correct statement(s) usmg
“the code given below :

@ 1and20r®

23.

(B) 1 and 3 only
(C) 2only -
(D) 3 only

The measure of inflation which excludes
the price of more volatile items like food

. and fuel prices is known as

| (A) Headline inﬂatiorll

WGore inﬂati@

24.

(C) Stagflation
(D) Disinflation

With respect to the monetary aggregates
in India, M1 is also called as

Lm Narrow money |

‘ (B) Broad money

£C) Reserve money

(D) Money multiplier

22. DmYIT [OB 03I BeewE 2016 s;
FowodrE03 FINT B3N, TONESR
1. e ToEPeF O QTSI

SERe BE03003 TOIF amddm -.
Afor:[oveLlic OB ' .;_
2. SER? ﬁo:bc'mab ao:bo%:dm
2.20.05°.60°, E&IDG@QJ‘ NONQ'iDﬁd
3. Swowe BEoIHOHI) at@,dozpzim(
| ST R [0 SRBWI
&a%oa’amﬁd. | -
398 Qeadhd eUZoNYR), WER ROTRT
BePINIRY, FoBOEROND :
Q) 1332 =R,
(B) - 130233 I8,
©) 2303
D) 3Rn3,

23. ézd%d oRdee S0 XOBNYeD &5Ho0
W) VR zﬂéﬁ#&b BRI

asadmdd es:ﬂéo:bab &:eﬁ 30N,
(A) éemrﬁ Smd:?.%d

(B) TIDI £9T30293
© evys o3
(D) QOPe3S

24. O3B DZead | Resndd M1 7'.; gt
RoroQRB0S BTy tert Bedoong
(A) RoBOW3 e
B) QO By
(C) weRew Ber

(D) BT roeaz

GS
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25.

26.

Consider the following statements about
the state of agriculture in the year 2017 :

1. Agriculture = contributes  for
16 percent of GDP.

2. Agriculture sector contributes for
27 percent in employment.

Identify the correct statement(s) using
the code given below :

(@7 1only)

_(©)

(B) 2 only
Both 1 and 2
(D) Neither 1 nor 2

Match the following newspapers/journals
in Column I with their editors in
Column II ;

Column I Column II

1. Bengal Gazette 1. _Harish Chandra

Mukherjee
2. Sambad _\ IL Raja Ram Mohan
Kaumudi Roy '
3. Rast Goftar ITI. James Augustus
’ Hicky
4. The Hindu IV. Dadabhai.
Patriot Naoroji

Select the code for the correct answer
from the options given below :

26.

26.

20178 B[S g gBB AR
oWoRATI0B FEor £e@€ﬁe§a§o ﬁaﬁ:@ﬂo
1. 3aod 2830 Tedeodd wdﬁﬁd Je. 16

Q)
ety BRTROR) Deo3d.

2. da gE®) Fe. 27 OR), AR

a::eéiocbdo QerET,
PR QeaddT W@dﬁ‘#ﬁ) WS RO
ée@irﬂ%ﬁaﬁo B0BBR0 : ,

1 abag

2 IR,

(C) 132 aS0E»

D 19 2eQ :
ORI 0YR0N 3 [EF / R BEINIRY
Ny oo II DS Fomewnss 2Xed
B0 FHF FORTTI), SORZRA.

(A)
(B)

oo I oo I

1. Pomoo® I 30 8¥og,
RdEs* C Roownr

2. Rowpd II. To% Towss®
FOZ00 RREBI T3

3. CRex’, IIT. 23ea3o® Shod
IRCERT® &8

4, O &own IV. Tomoge0ds*

T, E3,030683° S=Beee

1 2 3 4 - Rode3nd aaofoaoci R0 eUBoRYI) €302
<
o m o v 19— 1 2 8 4
A S . 4 M o v I
N B M I IV I
© m 1 m IV © I 1 m
) VI Il I D) IV I I I

GS
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27. The ages of Kumar and Raja are in the
ratio of 6 : 7. After six years the ratio of

their ages will be 15 : 17. What is the age
of Raja ? '

. %,,_\ '
(A) 22 years s Sl b - 3{1
—/‘/\‘:‘ g 9’
(B) 32years L
\&
(C) 26 years ’1’”" = e
D)~ 28 yea@ e J’\’b

28. The very popular Khetri Copper mines

are located in

J\(A) Jharkhand

“(C) Odisha

(D) Karnataka

29. The Deccan Platgau was formed due to

_4A) Denudation of mountains

Volcanic eruption

(C) IWindborne’ sediment deposition

| (D) Glacial erosion

217,
@ [IFRY Se
15:17

BTITOB.
BTCNY  FODAT . BT
B, TGS T oA, ?

(&) 22 IRFRD
32 IRFND
26 TRFTLO
28 TRFMEO

(B)
©)
(D)
28. o) BamImr ey, TR, Aedrivo W
RRORBRT e,
(A) NFOT° -
(B) OTomTS
©) B

(D) 3BJoFew

29. DO BRERQOCIN 3300 Z-ba:bareamn&i-
) =3rend sedneddes |
(B) R0 Ansk
QRS ERE T TV agew’

RoBeDHs 3

D)  &ROTD 333 -

(12 -

Space for Rough Work / 2.0t 3038 3¢
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80. Which among the following statements is | 30. P00 w@o3oewd RowodaEod B3
A .
B9803 oI Bewdned dmmonEs ?

true regarding the interior of the Earth ?

1. Density of the Earth is highest in

the crust.

2.  Wiechert-Gutenberg discontinuity

separates the mantle from the core.

3. Presence of iron in the core gives

the Earth its magnetic property.

Identify the correct statements using the

code given below :

(A) 1and 2only

(@ Zamsom)

"~ _AC) 1and3only

(D) 1,2and3

31. Recently Ramadevara Betta has been 8l

declared as a sanctuary. This is the only

sanctuary in India dedicated to

(A) The Great Indian Bustard

{ '1/{! ?]r}; : “Vultures !

(C) The Eurasian Spoonbill

(D) The Sociable Lapﬁng

s

PrRooh OTIchD BePRARE,
eﬁzzs@dmnd.

20 ﬁdze%s‘r—rbaéa‘wvr 2eRR OO
Q0BRAVISY LeataTollalela)
B3,e830Z33.

3. BeonReeIBOToE BRFE VRBoID
Proon woS%rbsaaSsigt QeRT.

g9t ReAHT CUISNER) Wk ROIRG

BeeBrda), BoRRRBO0 :

A) 1032 B%E,

B) 2033 DR

© 15033330
1,2 3033

(D)

Qdernt TOROTERT LI TEOROTIN
DecaRoNd.  @rd  usd  DfE
eseo3nTeeon FOREBTONDI R

(A)

(B)

©

(D)

73,063 f&o&od;a*:_‘ *_wﬁuo*; .
JeeBT),
o3RBeRodT* ARFT WO

380808 BT QO

Space for Rough Work / %
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32. Consider the following statements i

The Sangeet Natak Akademi
confers cl_assical status on eight
Indian dance forms,

\MIOhiniattam originating  from

erala is one such classical dance.

Manipuri dance has also been
conferred with
status.

classical dance

Identify the correct statements using the |

code given below :
(A) 1and?2 only
(B)
(C) 1and3only

%ﬁfﬁ, 2and3 - |

2 and 3 only

33. yider the following about Ebola virus :

.~ Ebola wvirus disease is a viral

< aemorrhagic fever of humans.
7 Ebola virus spreads through direct

contact with blood and body fluids.

% Rats are the normal carrier of this 3. adnd B %d;a"r{%} ARG, .'
virus. SOBIRTONGS. |
Identify the correct statements using the IR eRT mgdﬁeﬁo‘% WP ZOIRB.
code/given below : ge@gﬁgg—% 3088000 :

(o 1and 2 only | A 1332 3ng
(B) 2and 3 only B 23303,

(©) 1and3only © 13333
(D) 1,2and3 D) 1,233 i

3. DedPo JPRp TAgoHL  J
| WPRRIIR) TR deoRsd.
3R Qeadhs evgondsy wed RooIRg
TBeTFRIRO, FoROHRCWD : 4
4) 10332 308,
(B) 23033 TR,
©) 1333303
D) 1,23333
183, e ﬁddﬁ‘ﬁ ROWORATIOP!
B20TNER NV -

32. 89T Bewdndas WOMedn :
1. Roned Toe® B0 08
oseed FF, TRINYY, Tobey
TBBITBE) DeRZT. ¥

2. Breedd ©ip Fe0dd Sovumd
TOREOD &8, TATAYE, 2.0TNT3.

1. BNISTO PO  BFweeoows  xgdse
QReL FTF Beenmenss.
2. Sdpeo FJFAR OF Y SeEd
BRNY $e0 oTEr 3 B BORIJH. |

Space for Rough Work / WO ﬁt}ﬁ'u’* 3
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34. DART system in India is used to detect
which among the following ?

=
W Tsunami

(B)

Cyclone

(C) Earthquake

(D) Drought

35. Identify the wrongly matched one :

*\Aysical Research — Ahmedabad

Laboratory

(B) Semi-Conductor — Chandigarh

Laboratory

) National -
Atmospheric
Research

o

34. TOWF

35.

Laboratory

of Space Science

and Technology

FBFe), 4EEY, & 3303

IR VFBRBELL eTodeeNIeOnIZE ?

(A)
(B)
©
(D)

TOTON
eSW3F RT3

3o
TR0

3N BROTRESFOIPNTOF T, TOSFA

(A)

1PET BOBRTT — LBROTD®

- Zodeemood

(B)

©

(D)

e30-508 _ wBoaend

T,03R MO

SRS
T30 B®

RoBrermo

B odRemecd
2086 _ 833803750
WWTTT P

3 BoZRR

pifor]
]
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36. Choose the incorrect pair :

36. Sanawh moaﬁmﬁ&@dag n8FR:
(A) Article 44

— To secure a uniform (A) 44 3¢ DO — FTNOTOR BRI
civil code for the ] TOTI3T 2;’@3@5%
. ci?:izens : BRTEZNEIS 03
(B) Article 43-A — Eﬁt}ﬁ; ic);‘a\:gzi-l;?}'iseto (B) 43420 - ARFBE A
management of ' %maﬁr{%ﬁ?ﬁ@ﬁ)?ﬁ&
industries | LN EROT B,

_AC) Article 45 — Right of children to

(C) 45 Fe DR — FoTR evess8 oI

free and compulsory 30> 3ge0rs F8
i (D) 39-ADR - PR R _,
(D) Article 39-A — Equal pay and i . |
= equalLv%o—rk for both 3030%9&135?-{,57{‘3 ABRT

FORE ARNS Fe3I

37. o0 ARINGH IRNIHT QYR
& 89808 oina Fe3ned), @dozdaﬁpéd

\ men and women

37. Consider the following statements in
which areas both the Houses of the

DOUITIDY B BeYBRVOT MO
Parliament enjoy equal powers : 1L Teowas orR) BecH Jaw add
1. ;?l(llllptmn o_f bills other than money e Ei') m) o ) b
1 of e £ 2. 33F wONéw @@eaﬁﬁoﬁaﬂ:
2. Approva of proclamation o -
N m::: e ;;%5 330 Roudsriesy
3. Moving of adjournment and other _ 3. AR 2;,;9 Y v AR
types of motions. [, 1 R ST )
4. It can declare a subject in State List 4. TTOR 20T PRI
. as a matter of national impori';ance ! mﬁooso 303‘33%‘3 &bwcﬁod& R0 a”@og
and facilitate a Central legislation. g m#ﬁaﬁmh ""9025 ﬁmﬁ e,dJaec?q,@mﬂ
Select the code for the correct answer | iedﬁ Rfﬁdoﬁ eﬁoi)ﬁ@od Joxng
from the options given below ' 2 W@dﬁ?ﬁ NO%G@ESE&)OR;
(A) 1land2only | E A 1 Ebéo 2 d.mg
\B) 1,2 and 3 only (B) 1,2 zzi 3 mg
(C) 2,3and4only (©) izméixg
(D) 1,2 and 4 only (D) 1,234 3xg,

Space for Rough Work / gudlm %Qﬁ% R
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® :Z)V:gt:nisa?;ﬁf Ctident:ify V:;:ld me::(:: il més@d RO BowoHrEeE, BTN
matched : - ﬁmo@ﬁ%h&@d@t TIZRG :
JW RS~ Intellectual property,_|- ® 87 - PoFey
'- - i;1:estment measure;g (B) &7 - Bel¥sabnd
_(C) GATS - Services (€) mwr, - Hednsd
W + Ag'ricultu::I (D) o - g
iy . J

39. WOBEYT  @Rokes’,
. ' C o : ' .
89. (Consi d er the fOllOWing S tatements abOUt NO&JO@NdOg g#ﬁ’od Sf@ﬁﬁ%‘fﬁi ﬂﬁ)@ﬁa H
‘Montreux Record in India : L. 6&‘3.@6@@0&@9 (éedemd’cd)
‘/1./ Keoladeo National Park and Loktak m%’w wa_‘?sddd =02 @f@?
Lake are currently under Montreux ACREDTNSL @@3 BP0 EE?,
Record. | TSNS,
\/{ Chilika Lake was placed in the 2. W% RdRe=cs DSDY, I
record but was later removed from VB0 3533 Jo30 a,,’&édomod e-sdda
. the list. 3ﬁd§ BB, -
3. Montreux Record is a record of 3. Rnowes, DOSEY  TOIS3
reserved and ecologically sensitive -
fvetlands facing no eilogiial threat. mg@éme{ m@de BRI
| 3eBO303 BWeST TDSOIRNT.
Identify the correct statements using the 231 DentOR. ¢vadndd wey 0na
. ; i 1 . 4 - . of !
code given below : 260 iri%*a“% B0m%B00
" 1and 2 only ), A) 1332303
(B) 2and 3 onlyX (B) 20233 R0,
_(C) 1and3onlyoX (C) 13033 3N,
(D) 1,2and3 (D) 1,233 3R,

(17 - S)
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40. Consider the following statements about

(©)

Nilgiri Biosphere Reserve :
1.  Nagarahole Tiger Reserve ig a part
of this biosphere reserve,

- Mukurthj National Park is g part of
this biosphere reserve.

Nilgiri Biosphere Reserve also
- includes tropical dry deciduous
forest.

Identify the correct statements using the
code given below :

(A) 1and2only

(B) 2and3 only

1 and 3 only

f@y

1; 2 ana

41.

Identify the wrongly matched wetlands

with their respective State.

(A) Harike Lake — Punjab

(B) Loktak Lake — Gujarat

—

(C) Deepor Beel - Assam

(D) Hokersar — Jammu & Kashmir

Wetland

40. Deond YO8 Roogsn #ouo@&:dos;-

41.

1 Srd@Eed D00 Rodgm FPD &

39503 ée%ﬁ#ﬁg{ R0

08 Rotgrm Fue3a orTNs. |
2. RRREF ToRLod LUTREIID) & 'f;__
- 08 Rougme BEe33 zparimnci’.b 1
3. Qeond DT XoTgme TIeTRP D
FRONT B SR
0698 603, :
B DeddhR evgonvsy we Roodng.
BeoFnTR) FomBREND :

A 12303,
B) 23033 3w,
0 1323303,
(D) 1,233 I3,

BN BromesBodRABS 3ez30303

D3 o end  JowoRaad SRl
na8Fa: ‘

(A) ®0O% ABReI3 - Voo ﬁ

(B) SRt35 ISReRB - momoss

(C) Bepeo® Weer =) ésm”o

(D) BRECIT* Bews a,;cs@ - uab%qfoa;
5080

GS

Space for Rough Work / 2,083 5033* P
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42. Consider the following revolutionary

activities and arrange them in correct
chronological order :

1.  Lahore conspiracy case [92.€.
2. Kakori conspiracy case qu
3.  Chittagong armoury raid (9{,30

4. Central Legislative Assembly bom}

?29

~Select the code for the correct answer

case

from the options given below :

A 1,2,3,4

43.. The Moplah Uprising, a popular Muslim
peasant uprising_dug'gg\the national

movement happened in

South Ma]abaﬂ

The Carnatic

North-West Frontier Province

_Bengal

42. 31 39303 mosmo BeTeIFRI, B

R0F) SRNIR), Focing BRIBRTE,
BRea ;

1L IRt &3nd o
2. BineoadedmE
3. wgz\éorv BIZowD P
4. Beoleoh 233 Redodd Imozs*. mﬁ

3R deadhd o3orvocs
CVZTTN ROBeB[H0R :

pfaleviring

(4) . 1,2,3,4

(B) 1,3,2,4

(C) 42 154, 3

(D) 2,4,1,3

43. Togrod wBebwe Sdd0dTy RoBPrES),
BaBaon B0Re §3  ABOEOTE

206 ToR S 90,
(&) Bgeo Dowwo®
I(B)' ki
(OIS SRBR T,0YTE0

D) worms

Space for Rough Work / 2.0 %Oﬁ% P4
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Consider the following statements about
Subsidiary Alliance :

1s  Lord Wellesley introduced
Subsidiary Alliance in India,

‘2/._ The Indian State signing Subsidiary
Alliance

should surrender its
external relations to the care of the
East India Company.

The company had the right to
interfere in the, internal affairs of
the State. '

-~

Identify the correct statements using the
code given below :

(A)
(B)
(C)

1and 2 only (X
2 and 3 0111}70(
1 and 3 only

|_D) 1,2and3]

il

Recently, the Government of India
launched the Udyam Sakhi Portal. What
is the main purpose of this portal ?

(A)

/Es)

BVE)

To encourage the cotton industry

reneurs
To nurture women entrep J

Skill development of semi-skilled

labourers
e

(D) To encourage msurance penetration

44,

45.

1 oomr SR RUSTE, o b

(©

(D)

Sl onleve) 4 "'"3 mcgﬁ Fowodarod
Beosnvsy, daﬂm ]

33, BP0, TOUNTRO.
2. Roood® 3T, Eﬂdéﬁ ‘R E'.\Jaad '.
P0ge0 TR edd maa" 3
Nowoc;fr'{#ab 81T QoROIR Goc.uac:b 1
Clalald 29304 ummaﬁ V@36,
3. oaz:gcf 30308 ags;ﬁmdﬂ#g {
- 3FHTL FoTN 6&65% Bredd. - |
3R DedHI wugond) wek FOoIRG
ﬁe@éﬁ#ﬁg{iot&&@oﬁoﬁ :
A 132 IR
B) 2333 =N,
1 23y 3 B3,

D 1,233 33

28R P02 XNFoFrOR) QPVT0 R 0w
TPEFO® R TR, Bt Jpewr ey
B0, e03edeSesd ?

28 W
aedo@m? -
B T TN WFROTYH
038 D00 RIS TIe), ORR
A SOTHRBOI) LV ee O

A) groosner  euded

(B)
©)

Space for Rough Work / 2,080 GD"‘S "‘eé
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F T =k e .9.5,
7 7 # T2
46, A dkfan e
. man covers a distance of 24 km at the
— - 4[’. L; f
speed of 8 knvhy and a distance of 18 kmn | " o 24 8.0, e, SEEE)

at the speed Uf.?.‘klnﬂll‘. Further he COlVL:.l"-;" roe3nt 8 4.2, dfﬁdQ 5@3:’;332?3 dj\_"g
a distance of 12 km at the speed of 18 8.20. r:imddaigt notdnt 9 8.00. riez%

— 8¢ speed in Ienododon
c,‘w?”.pg-thf-“'hole distance ? PR, WS 12 g, Y

: , g '
Sk T D 7= D S, Mo 3 8.0, v derigy
i ‘(B) 5,5; 3& - 3 T F0DRE.  Tprormg TROER)
km/hr ot 2 = .,-5’ BT ZoR0 D) BT oz 2
¥ 4 /\ | (A) T3 ROt 8 3.0,
- LW > (B) B3 RowIR 55 8.%.
— n ‘h (C) & noedrt 3 8.2,
(D) T3 rloedrt 6 8.0,

47. Consider the following statements abou

Ejg Indian monsoons : T |47, 038 SRR Sowodrmed FWEeR
/_Q 1. Retreating monsoon gives rainfall in BeTTNT) Toredn :
-\,% Tamil Nadu during October and 1. &oddona ﬁJ?Jd@F)" @RI
November months. BRRWT’ B JFowo® onsdored),
2. Monsoon trough, a trough shaped =09 2033, .
depression develops in Southe -
Borriotiies _ HARETH 2. SNIF I, T IrtsY 3N
5 e ‘ N Sipletalu} ORF ORI,
8. abian Sea branch of the monsoon 3. oy AR08, Teted RRRRTD
sometimes becomes parallel to the = g
Western coast resulting in a break oy TP imaﬁm%ﬁ%
—— BP0 SNINTRY, RFP)
- ForBOWBI3A.
Identify the correct statements using the 3R eaHI wgdﬂ#?&i WY ooing
code given below : . ﬁwﬁrﬁd)qﬂod)&oaoam 2
g’ﬁ "~ land3 only) A) 1333 3N,
(B) 1and2only (B) 1332 dné,

© 2333 =n3

(C) 2and3only
(D) 1,203 SR,

(D) 1,2and3

Space for Rough Work / 2,88 ﬂvﬁi g
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48, Tertiary coal reserves

. in India are found | 48, md@d@ﬁ BAFOD BT QFeTR) fa';u
in
Borowdd3d
v"(ﬂ/ Jharkhand A a; o
WoF ot -
(B) Karnataka w 2 2
(C) Gujaratjj _ B e
(D) North-East . _ (C)_ Vioggmet ;
T - (D) 23205 i B
49. Shakti Sthala, 2 recently inaugurated | 49, =z ﬁe;ﬁ B38eBR FIOF BT, B3 3903
project in Karnataksa isa i ) |
. - GVTDESRCTD OB
(A), Defence project megﬁmozjdg{: y "}BN
, : (A) Ogrso cdwexd
‘;M’E) Solar power project l' :
L )
(C) Nuclear power project ® 083 olpend
sy o
(D) Thermal power plant . | QA TR 74 alnersd ;

(D)  Zosineds 38 I3
50. In Karnétaka, Bus Rapid Transit system

) 50. TRFLBRY, WA §T, TOR FTFed YN
1S under construction in which of the "

following cities ? - IR 3SR ARRF e BoBBAB ?
@ Hubli-Dharwacﬂr @) Bovg-oma

(B) Mysore . | B) WD

. (C) Mangalore ©) Hdonsdndd

—~D) Belagavi D) B

| 51. w0 Ted womdy g
51. The One Belt One Road Initiative, one of i 2 Wm‘é’ab@’ &)Eg.ﬂ ©d
the largest infrastructures in the world, C?EC% Seorsg %WFT{@Q 20T
was initiated by which country ? O30T WeB) gdﬁi TROOWRS ? .
(A UsA @) ooz, '3
(B) Brazil B)  P¥dper

(C) Australia | ©  eRedon
___s ;D) China‘ - (D) 8em

Space for Rough Work / %.3t3 3@3% s 3
S Y e " :

GS L (22~8) °
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52. Which among the following Satellite

-
launch vehicles uses a cryopon.. e 62. WINE wvERE WTINGY, §odnendes

BTG, evmodRenRoms L )
(A) SLV | oY ?

(B) PSLV | | A) o .Der.D.

)r(“'c') GSLVI ' (B) 2.0%°.00°.9.

C) B.F.005.Q.
(D) q{gacda (opY. 1% a{=b)

(D) Sounding rockets

53. Recently the PM launched Intensified | 53 |gedn TR T08,B[d BOTHEITE

Mission Indradhanush. The Mission Do VTSI R ai;z{ TD,B0RATT,
Indradhanush aims at targeting which of QOTBTIT ORI 'm@ w%@@ 33
the following diseases ? 8¥50m  oing. Geeniny) rOOCIRAR),
1. Diphtheria. < BRoR3.
_ : 1. &3 edodm
2.  Whooping cough ‘ i& y e
_ ‘ 2. PO FoTt
3. Cholera PR
4. Tetanus 4. . RIZ
Identify the correct answer using the code 91 erdo QVITRIRD, 2wy Focdng
given below : : ée@ﬁﬁ@aigt F0RBIHRBOND :
(A) 1and2only (A) 1322 3N,
AB) 1,2and3o0 - o - B L2333 3n03
ﬂC)_- 1,2and 4 on_ly‘ | © 1,2 ;ba.? 4 mg . )

(D) 1,2,33034

Space for Rough Work / 2,083 i’uﬁé; 3

(D) 1,2,3and4 .
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54.

55.

Identify the correct statements about the
Provisions mentioned in DPSP :

1. The State shall strive to promote
the_ welfare of the people by
securing social order.

2. The State shall strive to minimise
social and economic inequalities.

3.

The State shall algo strive to
minimise inequalities among groups

of people residing in different areas.,

The correct statements are
r(A) 1 and 2 onm

(B) 2and3only
4C) 1,2and3

(D) 1 and 3 only

Consider the following statements about
Citizenship in India :

i i At the commencement of the

Constitution, every person who has

“his domicile in India shall be a
citizen of India.

2 Person who has been ordinarily

residing in the territory of India for
not less than five years immediately
preceding such commencement of

Constitution, shall be a citizen of
India.

Which among the above statements is/are
correct ?

54. Oozg, Redodd dWeFBT IINY E’Ouoqﬂﬁﬁeﬂ; £

55.

- RO3RNE BeIRB0T3 -

Rowopaniod ROCIRE Beedres) modry ;
1 manes $RooR) HEHRs oo
%38 BRI, VeI oonR)
BaoResess.
2. TNBT DA HRFT e#aindér_j#d%:
BRRD BRBLO Do) BRI, :
3. 207 BJRe3NIE =RRITOS =3
ooRNY IO QB0 e#dmaﬂéodaai{
B SRBOL T BRoRLIeBD.

4) 1332 =3,
(B) 20233 33,
©) 1,2z033

D) 1083 =N,

OBDYN PSP owopu@ed  Fen
ﬁe@iﬁ@d&ﬁ@ﬁtﬁ% 3 _
1. RodmeI3 8033, WTITEA), i §
= mﬁm@aﬁﬁi BROOTTTRe 903
Diodeeyde tR08RE RS, 0
2. OInD Fansh AOTRJTON 03T
nﬂm@de‘eﬁdg 5 TA@Fnen 3RD
B[OB0E  TaRdEBIRERe 3
ROV Fwod s3oR sy TRog,

=0tOR IR Beosrid Rocdnng 2
_AA) 1lonly A) 1 m§
(B) 2only B) 2=z .
((©) Both 1 and 2) ©) 1392 wg3d@s
D) Neither 1 nor 2 _ D) 1 g e
Space for Rough Work / 2,88 Sbﬁi R
GS (24 -9)
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56. Banks in India have to maintain g 56
: . POUBTO  w3.03ned b
stipulated proportion of their time and 3 ool ey =
net demand liabilities in the form of Q < wesoD &aﬁmaﬁﬁdaﬁi
1iqgid assets with them. This reserve ig wédﬁﬁoaﬁﬁ 3= #ﬁﬁ%‘l dRTRY, A0
known as ' ' IRReI),  BrLIWesordzy. B
(&) Cash Reserve Ratio DR et BEERZES
(B) Government Securities (A) Rfﬁc;i) SoeRen 3633;3
[¥©_Statutory Liquidity Ratio ) B) R5ord BRI
. _ J b i
(D) Capital Adequacy Ratio (C)  ZoRINT BReGT exzmnsd
57. Consider the following statements about (D) woBYE ,ﬁmm’ré DT
Balance of Payments in India : :
57. 033 T3 X
1. Invisibles form a part of Current fD a2 Iy nﬁ)i@@@ﬁi
o en ROWORATOZ 3¥BoR ée@iﬁddi NV :
_ _ 1. %N 300 9303 RN,
2. iemces are included under Current ' 9 ‘N’eﬁr{;go ) éﬁdb@; ﬁ?;ﬁmﬁd
ccount. ' P~ ’
; 3. 3 _
3.  Current Account in India became E?D déd%@m@ 00350 %O wﬁ"wﬁ
positive during the oil crisis. 3%'37:0 ﬁ;dmﬁmiﬁmﬁwgﬁ' =
Identify the correct statements using the $ee W@dﬁ’dd& B DR
code given below : é@ﬁﬁ#ﬁg{%om&o@wﬁ :
T Lowi2oay ° o 1222&@
B
(B) 1and 3 only EC; ;mégm: é;
(C) 2and 3only M) 1.2 ﬁ—;& 3 i
(D) 1,2and3 3
_ 58. 0360 C3RE $BEYS™T
58. The practice of Sijdah and Paibos were ;f:@ iy 42313@*“#5;)3‘-‘2{?@@56?0
introduced in the Indian rulers court by 23'; Bciod N M
which ruler ? © ."’5&2‘ &aoa@) g
(A) Sher Shah @) eo” o
(B) Akbar (B) egor :
(C) Razia Sultana (C) - Te3odm Roens -
— -5l ’
l:\/(D) Balban | . D) W L 1

Space for Rough Work / 2,883 €o£§ :’&#
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59.

_®)

Fﬁ)

Consider the following statements about
a social reformer in India :

1. He looked on the Vedas as India’s
Rock of Ages.

2. His motto was ‘Go back to the
Vedas’.

Identify the reformer using the above
statements.

(A) M.G. Ranade
Raja Ram Mohan Roy
(C) Keshab Chandra Sen

- Swami Dayananbdj

60. Identify the correctly matched folk dances

1.

of India with their respective States :

Charba is a famous folk dance of
Himachal Pradesh.

2. Jhumar is a harvest dance
performed by the tribal people of
Jharkhand.

3. Bihu is the popular folk dance of

Gujarat.
The correct statement(s) is/are 3003RT BewERLoT3
(A) 1and 2 only ' A 1322 3N,
(B) 1and 3only (B) 10333 3N,
(C) 2 only © 233,
D) 1only D) 1 m%

R )

60.

aooad:rb@mﬂ&
533@@%051 éf@gﬁe}cﬁa‘
;bqédﬁ;ﬂ;ﬂi &R By
(A) 0.23. DOSE 4
(B)  Tow 09 SREES T

C) Be3= BoB, A
(D) =D njestpiiela)

wosdey  wasd R

Jowonsd  OOwNERES  XOokmA

BROTESBOIPNTIRTR, TOSFA. |

1 e GEnge BB ond
BR0208 IVT FZTNT.

2. WRAROT® QOWTD WFOT cauﬁcio
WOBBED), BIONBH BESFROB AN
| fchaphial

3. wEd wowom ORI BRowd
PRI 3N, 3

L

Space for Rough Work / 2,883 #03% :gg
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61.

62.

63.

J\n""‘

W 24 |
L/if

wants to plant them in such a way that
the numbler of plants in each row is the
same as the number of plants in each
column in the garden. Find the minimum
number of more plants that he needs for
this purpose.

fol}o wen 1o 102

JDr

(B)
(©)
(D)

12
39

-___—.________l-

Consider the following statements about
equatorial type of climate :

1. It rains throughout the year.

2.  Trees are found in pure stands.

3.  Most of the rain water reaches the
ground in the form of aerial
streamlets.

Identify the correct statement(s) using

the code given below :

63.

o -

..l\(:r!/ ,EJ\;, ’3"[“/‘:4 ME %

A sum of money is divj ded_g‘mong A, B, C-| 61, uoda.’o amdab 3:7:9:13 8 &a0TITY,
and D in the ratm. of 3} o, 2, ,!J 3 & 8 &3 donazennd.
share of A and C is i"f'll,l B & RY Toed T 11,172 &NTT, 0 B
is the difference between the amounts of 8 71'&3 RSN d@ N3 ?
Band D ? A

. / X
A) T 7,345 | S
®) 8,453 (B)_ T 8,453

% 5.580 (€) ¥ 5,586

D) T 6,545 (D) 76,545

A gardener has 1000 plants with him. He | 62. Wy SRERIMOTRD Z3RES 1000 RN,

BROOmS. LI 35 Bretdd), 2,085
7RO a*"m Xoag.ad mﬁ@daa’aﬁodrae e:me
Noaic.\:b ‘?wdfdaﬂa a’uaadaabai &
ema"ezﬁa'ah 330 363 N3 2 NYRY, PG

%Nosd oD @a?o #R:mb zieé’od) nOSFR ?

(A) 24
(B) 42
(C) 12
(D) -39

RRywBZZ DT mmrﬁmg

.-uozoo&)?ocﬂoé 3803 ée@ﬁr{#a’o ZOned :

1. &0 IFFRe abs?om& wdocuaézs

2. RTNEd sbdaan aa:)rb aeaﬁmn
ForOWABT.

3. wR3es "’a{mrad gt Vedd d}obr‘{#
0e8030 23RN ), BT,

IR QeRTHT Wédﬁﬁﬁ?}i AL folovrtm

éeq?a"rieddzl BORHBOD :

(A) 1onl L
only
' B) 1333303
f&fB‘i 1and30nl;} ©C) 230333 =3»3
—4€) 2 and 3 only 2 =
(D) 1,2and3 | D) 1,233
Space fof Ro}gmdw 3@3‘% %%"
GS

Scanned by CamScanner



65.

64. Match List I with List II and select the | 64,
correct answer using the code given below
the lists :

List 1 List IT
(Ocean | (Characteristics)
Currents)
1. Benguela I. Cold current - -
current
2. California II. Warm current’ -
current:
3. Gulf Stream IIT. South Atlantic
Ocean - g
4. Humboldt IV. North Pacific Ocean
current - A '
Select the code for the correct answer
from the options given below
1 2 3 4
(A I II III Iv
By IV, - W I I
) I IV II I d
M v 1m O 7
_ 65.
Exercise Ekuverin 2017, a bilateral
military exercise held in Belagavi, was
between India and
(A) Sri Lanka
(B) France
(C) Japan
_ﬁ@) Maldivesl

GS

Space for Rough Work / .0t o #ﬁ %e"!
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Sopchd  Rodeanudy  wed
Su3BRYR) BoRPE :
T3 1 3 I
(;wfo’ (Toraegeansy)
TeRBNEO)
1. oo Zw® 1. deBnegs I
2. ROTAFCIR I cvRaess Jma
- Bww
3. ner a0 III. T30 ETOLsE
| Snlate]
4, sozﬁme@; IV. 033 Bz
s s
Roge3ny Iz Owédr{%‘-‘ab &S0N ;
1 e 3 4
A 1 I II1
B IV I I
© m v 1
O IV W I I
TMEIRT @[T 2017,  wdd
VIO, DBgeoD QO30 W03
SAcch, w3 503) 353 e 5
(A) dcwom
B) W,
(©) wmee B
D) =nde



66. Which among the following sanctuaries j
; Sin | 66, TIores
Karnataka is well known for Blackbucks ? . ;dead 8 ddord i
Ranganathittu —p . Suazxj BTOROR 13, 8 08 1 e Sodrngs 7
(B) Attiveri = dmm% *
(B ¢
(C) Dandeli — 8oass d Bhe
| (C) wooded
=l Ranibemﬂg(w.; bolkk, .
. (D) Uatéﬁd@‘da
| 67. agedR  dretormyish pelaletlat)
67. Recently Rohingyas were in the news CRedoms) 20T f~taplelaldeve)
ffeq:nt?f- ) l?ohi_nsyzl Jo o ethuie|  Zdomotmidy,  os dedd
community [y i ?
| Yy living 1n which country ? zae&)#oga%d?
~ (A) China _
e _ 1 (A) 8e»
l (B) Myanmaxq/ _
- e (B) ESJQ'D;ELU‘
. (C) Nigeria .
. : (€) Fedosn
- (D) o
| 68. PUSeCD &503 RRLRRe egrochy)
68. India based Neutrino Observatory is R.T. . AFT <Y OB
constructed in India in a deep cave under dRRFeRRoRE. B odnexdody. o
INO peak. This project is constructed in P
, 0% O3RN Tox,BA ?
which of the following States ? % 2R R0BE ?
A TOTIR
(A) Maharashtra @ = s
' B P
(B) Rajasthan B megs
(C) Punjab . SCF, otmEr
@) Tamil Nadu] - (D) 3asbm
Space for Rough Work / 2,88 #O:iﬁt s
GS (29-39)
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69. Tokamak: 8 toroidal chamber used to
‘conﬁn.e high temperature plasma, is used
In which one of the following ?

(A) International Thy '
ermonuclea
t—LEHQI‘gy Reactor | a
(B) Large Hadron Collider Experiment

(C) International Space Station

(D) Hubble Space Telescope

\/ It was introduced by the 99th
Amendment Act. T

Consider the following statements about

the National Judicial Appointments
Commission :

\/2./ It makes recommendations for the
appointment of Supreme Court
Judges.

\8./ Supreme Court struck down the
99th Amendment Act and restored
the of

appointmlldges.

collegium system

—

The correct statements are
'}A) 1 and 2 only
(B) 2and 3only

(C) 1,2and3

(D) 1and 3 only

69, T gYgor OCINITOY, BUR TRy
TR, MR sty
HRTRD” - 28eongyy.
evEodReNITnIZE ? |
(A) 2080008508, Bagad mIRmean gy

03T 1
"yEe m Segdc doter
e20300oKCD ADEEAD) a@%éa : ‘
B WP BRCTBIFT

(B)
- (©)
(D)

oogeady TOIMON Seowd  eodnery
Roropamos $980r Berdnda Bonesy : ‘
1 3@ 99 St $3Ee :eddmd Ronvd

70.

AT, WORRYRDOWD. |
2, e Regpersy, msodnmi)c_fl
WINRBINIR),  Fedd  Rwes
ST BRBUTIRD. ‘
3. Rdperyy,  moInoodP 99 I
IDBRODZY  FNeRD 03,

D,0IRReIT FeBoToERY, 8R303
TRZDR) DBs D
BOIRT BeSnPons :
A) 130332 I,
(B) 23333 I
© 1,233 |
D) 1333 =03 1

Space for Rough Work / 2,88 Scﬁ% 3
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71.

a

72.

Consider the followin

g statement
DPSP : 8 iabogE

A 42nd Amendment Act introduced
Article 39A of the Constitution,

2. Article 39A strives to provide equal
Justice and free legal aid.

Which among the above statements is/are
correct ? a]‘
(A) 1only
(B) 2only

) Bothland2 |

(D)

Neither 1 nor 2

Consider the about

anti-inflationary measures :

following

1. Increasing bank rate.

2.  Maintaining adequate buffer stocks.

3. Pump priming.

71.

72.

Oo%, Nedodd ABer B 33;#9:1 ROWoPATIoB
NS ﬁe'osﬁrdaigt TONEdY

L Rodmds 39A S0ovdedh 42 e
éd%ﬁ& aroo::f.’ot:i’c:c’c»aigt ORROTDAS.

2. 39A QR IZRITT oD )
edd IR ROBODI)  FOZe
BRI,

aiaeoaod
IR :
A4) 13%3
(B) 2&%3
©) 1R 233020
(D_) 1 Clamng) oY

Beedridd oINPT

BrocoyB8  2dRe) i}
SUNSINRy Soriedn :

1. Se3ton we O,

2. IR, WFT* TF IR, AT LROYT.

3. Dow* FDoor.

gRony

Which among the above is/are important Soed  SAd  cnRR  IRwdmd
anti-inflationary measures ? St*acb%d D8R SRS ?
rtﬁf 1 only \ A) 1303
(B) 1and2only (B) 1:32 IR,
AC) 2and 3 only (€) 23 =R
D) 1,23033
(D) 1,2and3

GS
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73. Ocean Salinity in the Gulf of Bothnia is

75.

- (©
Y(Tn')

74.

(B)
o)

unusually low due to -
(A)
_-(B)

Very high rainfall
Very little evaporation

Strong ocean current
Large influx of snow-melt water I

Which of the following is regarded as the
Magna Carta of the Western educatlon
system in India ?

(A)

The Report of the Committee of
Public Instruction, 1833

The Charter Act of 1833

Despatch of Sir Charles Wood,

Secretéry of State, 1854 ‘

Report of the Hunter Commission,
1862

The three famous personalities, Prem
‘Kumar Sehgal Shah Nawaz Khan and
G.S. Dhillon durmg our National
Movement were associated with

(A) Kakori Robbery

(B) Bomb in the ‘Central Legislative |’

Assembly

) INA Trials-
(D) Lahore Conspiracy Case -

78.

74.

75.

(O

dpgoRedn  SP00DY,  CRERTS -;é
SHEo<enons ORI B FTTRg :_-3
283H00033. i

(A) €3 08 =¥ |
(B) €8 3R BRRETEY, fﬁ@mﬂ)&)ﬁ ;.

(C) - BRmT Roomns Feesntdh
D) &RBONS DeOT 230, BOR)

wf)ﬁ[‘éfo@?ﬁd" 4
(A) 1833 O '-ws-u:oﬁ 3§s:a :-.g_

=00

1833 T 183FT° F0WT ]
1854 G Toty, TOFTEF BT WROE
F=°C SO i
1862 O Bot30° 3030eNa [BD

(B)
(©)

(D)

2R Dod BRI JINT B
DRBRCT ZBRCT, T I8P oo &
RO, BQY ORI [y coagod
BELBPD BTN, BTE FowoHuwRY
(A) B3Red T3neRE
(B) BeoRyeod ZoRsoon Xeoddd), ol

Zees - .
.05, TSR

(D) ©PReec 2300 FFdke

GS
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76. Consider the followin
g statements ab
out | 76. fﬁo?{@;ﬁgﬁfada oI0TE  Fowopared

the Anglo-Mysore war -
. _ BY503 Bewsndd Toness, -
1.. Haider fittacked and captured Arcot 1. 2 e &go:i;aQ 0203
during the 2nd Anglo-Mysore War, | e éd; i Oib%d
2. Haider died i iddle o il
2. in the middle of the 2nd B0 BB ITBARER0ED
Anglo-Mysore War. g - ‘
2. 23 BoriRe-RRetd R DFTS
3. 'Iihe Treaty of Srirangapatnam was %ng;b =00 BRoDTD ; 1
- signed after the 15t Anglo-Mysore 3. ZER> @ortne aﬁgmda ;di:dd F020
War, ST 5 5"
. $e0onTE3es ITOTE T TITEDOW).
Identify the correct statements using the | - iﬁh‘; <o® g;g ..::L S e
code given below : o 6 wgdﬁd&
" 20308RR ;
1land 2 ﬂ ’
154"’ sy . &) 13323,
(B) 1and 3 only ©(B) 130333 R,
(C) 2and3only ©C) 23033 IR
(D) 1,2and3 - (D). 1, 23523 3

7. WOF  BF ANNF 20w HYFY

77. Baltic Dry Index is used as an economic mggm;ztﬁ IR VTN
8

indicator for
A) B3 w;?zpan’ia T WwDT Aded

~—(A) FDI inflows into a country
e woB=E

(B) . Performance of manufacturing
(B) evZTm Frwdsns obrgmod

industries
(C) Robustness of trade and shipp@ | C) T8 202y BAEM Fesnd z%qgg
service

D) word Te3TY, e  FeINEO
BREOR

(D) Service sector’s contribution in a

country

' -
Space for Rough Work / 2,080 038 39
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5 : 3,760 in shares,
w 1ch- 18 25% of her monthly income.
What is her monthly income ?

(A) T 12,000

A .
¥ 9,000 \.éf%o" '3/?%

78. A woman invests ¥

N XD
sider the following statements about

irrigation in India :
1. Tank irrigation is an important

source of irrigation in Karnataka.‘&

Uttar Pradesh accounts for the

2.
/
. largest area under Well Tank
irrigation in India.

3. More than 50% of the canal
o irrigated area in India lies in the

Indo-Gangetic plain.

e

Identify the correct statements using the

code given below :
(A) 1land3 oni.Y
(B) 1land 2 only

‘l oy~ 2 and 3'only .

V(D)’" 1,2and 3

78.

B (®)

79.

(D)

Sotododorgh  ROMEE, ¥ 3750 5
BnBRZY, BT TG SPRE SOy
ge. 25 OIS, TWES T r_.‘,
T30, ?
Z 12,000
% 9,000

Z 14,000
% 15,000

(A)
(B)

(D)

Beedrds), TONESA : §

1. 3wruEdd 38 Reoomookn el

| DB00TOT AeTHHOOD RAROTONG.

o, mode  wa, 88 Rl

EX A
FRo0TOT Tz, BVIT BEES.

3. POZEY TR DETOTON s T
ReR0 BB e, 50 foden B
R 0GR -Romw WITITYLT. ]

s9ng  Roseandny

BeVBNRID MOSFR :

13033 3 IR
15582 3°3
2 333 3 VN,
1,2 30338

wYn RO

(A)
(B)
©)

NS S
Space for

(34 - S)
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80. Ankaleshwar, the famous on-shore oil | 80. P03 ©03Se80") BITDOB B30I
Fogedmonay, Bd JSrRRoRBORT 2L,

field in India is located in

Pl
() Gujarat )

S’

(B) Tamil Nadu

g

(C) Rajasthan

(D) Odisha

‘81. SARAS PT 1N was in the news recently.

What is SARAS PT IN ? Bor 7 &
. m.-—-'-__-—.__'_-_- - s

(A) Indigenous  cryogenic  engine
developed by Liquid Propulsion

Systems Centre.

(B) Electronic chip developed by

Semi-Conductor Laboratory.

C) Indigenous aircraft developed by
National Aerospace Laboratorie

(D) A Tokamak developed by Plasma

Research Laboratory.

81.

(A)
(B)
©

(D)

%003
BT
(optampi!

WRTO

SARAS 'PT 1IN ooz adedn
RQOHAR). SARAS PT IN DOTTER0 ?

(A)

(B)

- (©)

(D)

Hocon oineiie’ wous® BRG
Srew T, deor o
ww%@)ﬁmo&d}.

Clemptest fosfeiclvppidlovblalolay
SERPE YT RIRD) BRRQ,
TR

T30 FORV TR
BodRemOoHR) BRHH TRIT
Boead QRPS. '

i

TR ROBRGT BOIRTOOOI)
OPF,B BRAT R ETRRE" .

‘Space for Rough Work / 2,882 ﬁvﬁ% B

Bl | . (35-9)
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82. Consider the following statements about
the Ease of Doing Business Report 2018 :

1. This report is prepared by UNDP.

2. India improved its position by

30 ranks and is currently placed at
100*h rank in the report.

3. Enactment of insolvency and
bankruptcy code is one among the

reasons for India’s improvement.

Identify the correct statements using the

code given below :

(A)

@)

(©)

1 and 2 only

2and30nlyi/

1 and 3 only

(D) 1,2and3

83. The current President of the Sahitya

Akademi is

| _—m_:) Dr. Chandrashekar Kambar

(B) Gopi Chand Narang

(C) Mahasweta Devi

(D) Ramakanta R?.th

82, oedon

83.

3 IO oy
ﬁfﬁﬁot_g

2018

2RRTE, Z020HRTI0P

Sewsriga, TONEA -
| e mdoos, 99, Ao ondnl

F2030F 5, 3E, éodn@wand |
9. g3 =COODL, 03Dy 3, WRBY, 30
B eednva), DIPORVEIT 238 100 J'

Serdob @R PEOT.
ods SRy DIWIIT xoaosom

aaod:racpam 033 REsH
520£anE), LOTNT. ]
NG RoBEINISY

Bewsnea MeF A :
13332 IR
2 333 3 BRE,
139333 313,
1,2 30333

Wy Roo3nd
(A)
(B)
(C)
(D)

B3 Wk, LTHEN0D BTHETO

(A) . B30T 80wT

(B) RRC WBoT® TOTONT
(C) dsmﬁﬁcé Be

(D) ORNT03 ToF°

Spac

mne

o for Rough Work / 2,804 308 ¢!

A
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84. Vikas engine which was in news re
' cently | 84, ~
refers to which of the following ? I 0! dowith a3 r‘fOt'-?DOi)@md%
B3 BFFOBIYNSA). om@d'u’; ROWOHAT ?

(A) Cryogenic engine used in GSLV '
| (A) godeedRs’ Q0N €330
]

(B) Scramjet engine 2. 07°. 7.8, 00 WHRTTO
{(© _ Liquid fuelled rocket engine) B R e o
__~D) Engine used in LCA | C) Bege aoqﬁd@q{, DoBe3* QowS*

D) CF.2.Q. I WFRDOI QOB

- 85. Pharmacogenomi i -
: genomics 1s . a recent | g. @mrmeﬁmemﬁ 202D %c%aeo:b

development in medical science  which &)gaaﬁde; 2862 E?pag} &gpa'i)aﬁd% zs
seeks to develop which among the
P g _. 395038 00T, e@q]qgmi.l FEN3T.
following ? -
' (A)  ©R0=088 BADSATR) rdOroZBIeD
I(A') Drugs to cure genetic disea@ | RRON
(B) Tailor-made drugs to suit different (B) 98 neSee IFHeR ZoBEOTO
%, :
genotypes @ﬁ@ﬁ#&i& 303700
_© Production of antibiotics using| () sy 203830 WHBLORED T2
latest technology zﬂeﬁﬁrﬁ@.‘fa’% Uuabpz‘bd)da
(D) Identifying the genemarkers for| —q) e300y mowdnen  wes
genetic disease - TRBF TR, MOSF RO

~ Space for Rough Work / %83 8033 3¢

s (37 -S)
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86. Match List I with List IT and select the

correct answer using the code given below
the lists :

List I

List IT
(Constitutional (Source)
provision,) | e&\?\‘b
1. ConcurrentListof I. UK
Legislative Subjeci;s | :
2. Removal of the II. Canade;(’
President &
3. Federationwitha  IIL USAQW
strong Centre |
4. Prerogative writs IV. Apstraliq
V. Ireland |

Select the code for the correct answer
from the options given below :

ira:zdm #oﬁ_edﬁe}ag WER R
VZBRFR, BONTRR :
55’&5 I 5‘5&5 II
(;o’oaozpaaa’ TpOrsy)
: .ervafwoq:’ﬁ%b)
1. DORSWTG, 1. \\gdoo.8.
HRoNER
RSOBEF TS,
g 2. CORREOR 1L 333
SRV |
3. [UOTT I O30.9%° ..
S0 BRBITO
o |
4. DITWHTITY, IV. &3edaiR
RO | '
| V. XIFom®

12 3 4 Ro8eand Aeaobnes 30 Lv3oRYR Yok]
| . . . .
@A 1 II I |
& I O
y v om I a
| (B) I I I
II I
&C) me © I v I I
D I IV II 11T —_ - o -
Space for Rough Work'/ 2,08 ée;ﬁa: 3

(38

GS

- 8)

Scanned by CamScanner



87.

89.

©8ReWO* 2016 T, XTF Tz RCS-UDAN

odpexF0deodS),  WTopad.. o

odnexdon evreBaSesd ?

(A)  @odn SR Swes  TEeds-
RoTIF B, LV BRI

(B) &@3N mod»dmﬂrﬁ#@_, Mo,®I0
ReSna) Ho30SROT

(C) 50030BRNFT B0B0FFee0 0306

(D) 30THEN0 IWRIFR) FPeaszn

C QFRYT odrend

e03000ge0> AT #y30D W 3N

BewFRIR), TONESR :

1. | P03RE, Iy TP

a“aamroabaiab BroDDVT R,
3T 2.T[B3 eszpbo’d eoédme&eo:b
a.lOnJOUJaﬁCg

2. tad: NFSOODBY, @g@dwd eNSs
e SPLarmon BoRowTRE ToFHRTRY
WERPRST.

3. B GoDY, TR, BeBa) RORYTT Saz
o:aaamnd. :

NS Rode3nd),

BeVINIO M8 A :

Q) 1332 Bw,

(B) 1333 I,

C) 2 ?..{333 3 dmé

D) 1,233

ol araoaﬁodnnd)d)dzb rbém

(A) e:)ﬁew 7,00007F ﬁﬁoﬁ% 0.90.5".

(B) &), fawmd oo, - z:éwa .83.%.

(C) Uao?uecrb 2353 eﬁc“ 2.20.

(D) @-aba&a‘ ass‘ . 8. T,

WY RodRT

87. During October 2016, the Government
. launched the scheme RCS-UDAN. What
is the aim of that scheme ? ~

(A) Stimulate regional connectivity

—\__through airlines 77

(B) To regulate the customer service in
private airlines

(C) Air ambulance scheme

(D) Scheme to build Flghter Jets
indigenously

88. Consi_der the following statements about
the International Solar Alliance :

1. .It is the first treaty-based
international organisation with its
headquarters in India.

2. This covers countries lying partially
or fully within the tropics.

3. France is a founding member of this
Alliance. _

. Identify the correct statements using the.
code given below :

(A) 1and 2only

_~B) 1and3only
- (C) 2and3only
») 1,2and3
89. Identify the wrongly matched one:
(A) Special Drawing Rights - IMF
(B) Most Favoured Nation - WTO
t( C) National Treatment = RE,J
- (D) D-Mat - NSDL
GS

(39-9S)
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90. Consider the following statements about
full capital account convertibility :

1. It may lead to capital ﬂight.

2. It may lead to BOP crisis.

3. It may lead to erosion of forex
reserves.

Identify the correct ‘statements using the
code given below :

(A) 1and2only
(B)
(9]
(D)

1 and 3 only
2 and 3 only
1,2and3

91. In India, tropical wet evergreen forests
‘are found in

_1. Kerala —
2. ' Manipur
¥ 3 Andaman v«

Select the code for the correct answer |

from the options given below :
(A) 1and2only X

(B) 2and3only A

(C) 1,2and3 |

4B 1 and 3 only
/

92. Hoolock Gibbon, the only ape in India, is
found in

»—TCA) - Jammu and Kashmir
(B) Goa
(C) Kerala

l (D) Assam )

90, J[PLOF 200R0Y 8503 Hos3rs wij 8980 ;
BewENT, NV ;
R~ wodamf BN, aadeaaaﬁwaod; _

9. 973 V.. & wwﬁ aadeaasariwcﬁ)m

3, ) B é’aaabo:b QgeINY Nazsséj
@dwmr{w&zﬂo ]

sng  Aodednedy w¥a  ROond

5?@37@&%&3? A | .

@A) 1332 3T

B 13033

©) 233G

© (D) 1,233

C3TE, e:u%d@o:bzﬁ é’edcﬁwé z)as
aaqpr wdsa R ForowTOFT 3L, |
1, . 3eo¥
2. RdR)C
3. e30BINT"
R QedTB 03)neos
eméd@ﬁ RoBe3TT0ON :
a) 1 abéo 2 mg
(B) 2303 abaé
(©) 1,233 .
D) 133 ams

91.

el

92. BRRT N PO RN zpad@d ;
0ot B B398, FoROWTIZYS \
(A) BRI R 54T
(B) nReR

(C) ®eTd.

- (D) @m0 ' .
) ~N

GS
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93. Hsuan Tsang, the Chinese traveller,
visited India during the period of which

ruler ?

lf A Harshvardh&u;)

(B) Kanishka
(C) Bimbisara

(D)

Ajatashatru

94, Consider the following statements about
the formation of coral reefs :

1. Coral polyps can grow only in
shallow continental shelf.

2 Corals need sediment free water for
their growth.

3. In India, barrier reefs are found
along the coast of Odisha and West
Bengal.

Which among the above statements are
correct ?

(B) 2 and 3 only
©)
(D)

1 and 3 only
1,2and 3

95. High temperature and heavy rainfall with
alternate wet & and dry penods resu.Its in

93.

94,

95.

BROVITONT,  WeRe . oIRgsI  0IRT
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2. DY TEING IIBe3RR Foe30 0308
Q0SB engDT.

3. YTUSTE, auaaa R D ""&ﬁda wona@é
BOUTOOT0TR), BoBE BIY  DFNIY,

- BB,
BoedT cdRD BeYBFNL JOATRNS ?
A 1ZH2=es,
B) 2R3 Ins,
©) 1303 In
D) 1,233

SIALRUE Dl B o @%@3 SoPed X¥edn
%0838 J033 I3RorTe3 BB Jess
DY BF BN Do Ss Soea

the formation of .
A Sigmatinn b ABRFETONZI
D<A) Black soil A) 3 ey
Alluvml Sml (B) ﬁ)ﬂi@b doe'a%
VZ/ Laterite 5011 l (©) uow%ﬁ mm%a
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96. Consider the following statements about
the Andaman and Nicobar Islands ;

~X Saddle Peak is the highest peak in

these islands.

2, Narcondam and Barren 1slands are

volcanic islands: ©

dJ arawas and Shompens are the oﬁly

tribes living in these islands,

Which among the above statements is/are

correct ?
b&@ 1and 2 oq}ﬂ
(B). 2and 3 only
(C) 1and3 only
@@) 2 only
97. The Union Government recently launched
E-Samiksha platform. What is
E-Samiksha ?
(A)

"Online monitoring system to tr@
the progress of government projects

(B) Online monitoring system for
tracking safety in  nuclear
installations '

y (C) Online, monitoring system for
checking illegal 1mm1grants '

‘)D) Online monitoring system for

| checking environmental

degradation caused by mining

96. ©LoBEIRT DA dnewo* QTR
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3. R0HF BB ToBer B> B DRI,

LB BTORG BeRROSTS. 5
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98. Project Seabird, the sophisticated

inﬁ:e&structure in Karwar is a dedicated
facility for which among the following ? |

(A) Navy
(B)

Air Force
(C) Army

s Ship-building

99. In India, under the three stage nuclear

power programme, 20d stage of the

programme deals with the which of the |

following ?
R s

M Thorium based reactor — [JI’

(B)

Advanced heavy-water reactor— T

©

Fusion reactor

(D)) Fast breeder react@ =k

100. The recently launched ‘Innovate in India’
programme is associated with which of
the following ?

H(@/National Biopharma MissioD

(B)

National Mission on' Bovine

Productivity

National Mission for Sustainable

Agriculture

National Solar Mission

<O
S
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